Electric Drives Linear Motion and Rexroth
and Controls Assembly Technologies Pneumatics rvice
Bosch Group

FmBF - EEFEEY, £3 CM2

FERBEERMY

=T




2 Bosch Rexroth AG | Pneumatics

EmBR - EETEREY, 77 CM2

FHBaEEN
PM7, S iERRIE IS S EE Y
"
@Q-’
— PM5, B & &M,
GUS, EHEAEREGE AR
@ » TSI T » ££549"U", 320-100
I 1

GU3, FiaGEREB
» AFESIET » £#"H", 320-100

~ GUS, e aEE G C I
YR > ATFE48 T » AU H”, 012-63
N0

HBEFIRRNM RS S MEER O CEEMTER, #EME SRS
S|HEm-BR, ELPDF, HIETF 2012-02-06, © Bosch Rexroth AG, #REEESALF



Bosch Rexroth AG | Pneumatics 3
E@mER - EETEEY, R CM2
PM7, F1EHREI R MBS &R
d1
IEVL
@]
= T O,
N
rﬁ\r.
N
2
a2
- 00105194
00105170
=R KK at a2| d1h11| d6 H13| d7H13| e1H13 e2 h1 2 H
1827001629 M10x1,25 60 37 20 6,6 11| 36+0,15| 230,15 15 7 24
1827001630 M12x1,25 60 56 25 9 15| 42+02| 38202 20 9 30
1827001631 M16x1,5 80 80 30 11 18| 58+0,2| 58202 20 11 32
1827001632 M20x1,5 90 90 40 14 20| 65+0,3| 65+0,3 20 13 35
1827001633 M27x2 90 90 40 14 20| 65+0,3| 65+0,3 20 13 35
1827001634 M36x2 125 125 60 18 26| 90+0,3| 90+0,3 30 17 55
il AR T sw ##E B =
kgl
1827001629 17 7| P 0,3
1827001630 19 W ESE 0,4
1827001631 24 W it 0,9
1827001632 36 W it 1,15
1827001633 36 W ESE 1,1
1827001634 50 W EEE 3.4

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2012-02-06, © Bosch Rexroth AG, %88 & B4AFH




4 Bosch Rexroth AG | Pneumatics

FRER - EEFEEY, R CM2

PM5, 1B & &M, 3K

x SWs Bi Swz F Swi

@
"
K|
|
~
<]
o

00105169 Q — - -

SWa L2 Ls

/"F’i
|
D3
]
1k
|
(
K
_@ D1

3
D300_029

* fatsk
052 mmiEH T

FEE 1D KK B1| O D1 D2| ©D3 F| L=#2 L2| L3+1| SW1| Sw2| Sw3
1826409008 M4 2,2 12 13,5 4 13 33 8 5,6 12 3,2 7
R412007860 M5 2,5 8,5 14,8 6 12| 385 13,5 4,3 7 5 8
1826409000 M6 3,2 8,5 15 6 11,5 39 12 3,5 7 5 10
1826409001 M8 4 12,5 20 8 14,5 55 15 5 10 6 13
1826409002 M10x1,25 6| 215 34 14 23 73 20 7,5 19 12 17
1826409003 M12x1,25 71 215 34 14 28 77 24 13 19 12 19
1826409004 M16x1,5 8| 335 47 22 32 108 32 9 30 19 24
1826409005 M20x1,5 10| 33,5 47 22 42 122 40 19 30 19 30
1826409006 M27x2 13,5 62 62 28 48 147 54 14 32 24 41
1826409007 M36x2 18 80 80 38 86 241 72 18,2 50 36 55
R412007729 M42x2 21 64 98 42 96 271 82 20 60 36 65

P itEn sSw4 #E RME EE

[kg]

1826409008 12 M S 0,02
R412007860 13 W P 0,02
1826409000 13 W B 0,02
1826409001 17 bl ik 0,05
1826409002 30 W ik 0,21
1826409003 30 W S 0,21
1826409004 41 El S 0,65
1826409005 41 El S 0,68
1826409006 55 W §EEE 1,7
1826409007 75 El S 54
R412007729 85 W S 8,76

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BFE, ELPDF, $IETF 2012-02-06, © Bosch Rexroth AG, 4R E B4



Bosch Rexroth AG | Pneumatics

FRER - EEFEEN, R CM2

GU3, RBEEEN A T
> AFIRHIEAT » 5545"U", ©20-100

E
_@D

00106408

*1.0 - 2.5 mmEY{R [E) T
RESEE: SRR ERG SEEEIRET
ZHFE AT SERARE.

A KK (1] M A B c oD OE OF
1827020171 M8 20 2x M6x12 22 10 9,5 20 45 36
1827020172 M10x1,25 25 2x M6x12 22 10 9,5 20 45 36
1827020173 M10x1,25 32 2x M6x12 22 10 9,5 20 45 36
1827020176 M20x1,5 80/100 4x M6x14 22 11,5 8 32 60 51

=R #El
1827020171 AEEN
1827020172 W
1827020173 W
1827020176 AW

HEFIRARNM RS MEER O SEEAER, FRERERMYE

SHEH-BR, ELPDF, $IETF 2012-02-06, © Bosch Rexroth AG, %88 & B4AFH




6 Bosch Rexroth AG

| Pneumatics

FRER - EEFEEY, R CM2

GU3, RMEEEEM B

> FATFIZHIET » $49"H", ©20-100

00106407

*1.5
#E2

Al

- 1.8 mmg{E R F 1
SEE: FHEEEERG SEEEIRET

00105878_a

=R KK (7] M A B c D OE OF
1827020177 M8 20 2x M5x12 22 14 6 14,5 33 26
1827020178 M10x1,25 25/32 2x M5x12 17 14 6 14,5 33 26
1827020179 M20x1,5 80/100 4x M6x20 32 14 11,5 32 60 51
=R i
1827020177 TEEH
1827020178 T
1827020179 TEEH

HEFIRARNM SRS MEER O SEENER, FRERFLMYE

SHER-BFE, ELPDF, $IETF 2012-02-06, © Bosch Rexroth AG, 4R E B4




Bosch Rexroth AG | Pneumatics 7
E@mER - EETEEY, R CM2
GU3, ZBSEEHGF CH
> AFEHIET » Mg U F1“H”, 012-63
C —
w0
2 @
* 2 - 2.5 mm KR [ P
HESEE: FHBAEEY SFEEEIRT
=R KK 7] M A B (o} D OE OF
1827020170 M6 12/16 2x M4x10 18 7 7 10 022 015
1827020174 M12x1,25 40 2x M6x12 22 14 8 18 45 36
1827020175 M16x1,5 50/63 4x M6x14 26 14 8 24 54 45
=R i
1827020170 TEW
1827020174 TG
1827020175 TG

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2012-02-06, © Bosch Rexroth AG, %88 & B4AFH




Your contact:

EEEHNTR(PE)FRAT
iR

FE LigHiERAE 1S P EMRA
KEAE

#R4R: 200120

B1i%: (86-21) 3866 6000

t£H: (86-21) 3866 6111

Hit N R(PE)ERAE
EHNHEL
EBALKDBRIAE195
REMEAT I KRE#
BLi%: (852) 2262 5100
t£H: (852) 2786 0733

EEEHNTRPE)FRAT
ERARL
PEAREFREAALXKER
#®e6s

BR%R: 100176

B1iE: (86-10) 6782 7000

f£H.: (86-10) 6782 7020

EEEHNTRPE)FRAT
KERTRL

FEKET T RN XH K9S
BRTE FRKE2005%E

BR%R: 116011

BLi%: (86-411) 8368 2602
t£H: (86-411) 8368 2702

FEEHHTR(PE)FHRAE
I

AR T FF & X RS Y T
HR4%: 510663

H1i%: (86-20) 3229 9551

f£H: (86-20) 3229 9528

#itt hER(PE)FRAT
BB FR A

rh & B ER T I K 1453085
ST 1521#%B-CE

B4 610017

B1i%: (86-28) 8652 7550
f£H: (86-28) 8652 7123

it L R(EM)FRAF)
PEIIAEMNTRER A RTRE
165

HR4%: 213161

F1i%: (86-519) 8175 000

f£H: (86-519) 8175 088

Bt DT RALR)REFRAT
FEILREFHEAALXKER
%65

#R4%: 100176

F1i%: (86-10) 6782 7000

f£H: (86-10) 6782 7020

Rexroth
Bosch Group

Bosch Rexroth AG

Pneumatics

Ulmer StraRe 4

D - 30880 Laatzen

Phone +49 511 2136-0

Fax +49 511 2136-2 69
sales-pneumatics@boschrexroth.de
www.boschrexroth.com/pneumatics

LisE#hTREERBHLE
FRAF]

FE LETINEHARRERR
—pg122%

HR4R: 200131

B1i%: (86-21) 5866 3030

f£H: (86-21) 5866 5523

Lisgith+RBEERBHEH
PRAS]

AT

HE EigmEFfHOnTX SR
555

HR4%: 201206

Bi%: (86-21) 3866 6333

fEH: (86-21) 3866 6222

further contacts:
www.boschrexroth.com/addresses

The data specified above only
serve to describe the product. No
statements concerning a certain
condition or suitability for a certain
application can be derived from
our information. The information
given does not release the user
from the obligation of own judg-
ment and verification. It must be
remembered that our products
are subject to a natural process of
wear and aging.

© This document, as well as

the data, specifications and other
informations set forth in it, are the
exclusive property of Bosch Rex-
roth AG. Without their consent it
may not be reproduced or given
to third parties.

Subject to modifications.

Online-PDF
06-02-2012



	PM7, &#24102;&#25176;&#26495;&#30340;&#26580;&#24615;&#32806;&#21512;&#36830;&#25509;&#20214;
	PM5, &#24615;&#32806;&#21512;&#36830;&#25509;&#20214;&#65292;&#29699;&#24418;
	GU3, &#26580;&#24615;&#32806;&#21512;&#36830;&#25509;&#20214; A &#24418;
	GU3, &#26580;&#24615;&#32806;&#21512;&#36830;&#25509;&#20214; B &#24418;
	GU3, &#26580;&#24615;&#32806;&#21512;&#36830;&#25509;&#20214; C &#24418;

